A\/ENGEFt

4x4 ACCESSORIES M
£S.CO
L AVENGER4x4ACCESSORIE

Required tools m

M8 x 30 x 1.25

Step 1:

- Place and Centre The Base frame in the Truck Bed.

- Place Front Base Frame Touching the Front Wall Of the Pick-Up Bed.

Step2:

- Centre the front by measuring the Distance between the Front Base Frame and the side of the Pick-up Bed.

Step 3:
- Mark the 6 Holes of the Base Frame.
NOTE : Before drilling, make sure that you don't drill through various parts if the Vehicle by Mistake.

Step 4:
- Firstly, drill pilot holes.
- Follow by Drilling a 10.8mm Hole through the Floor of the Pick-Up Bed (x6).
- Paint the Bare Metal of the hole with a suitable anti corrosive paint.
NOTE : Look before drilling.

Step 5:
- Put 6 Rivet-nuts (M8 x 1.25) provided into the 6 Holes.

Step 6:
- Crush the 6 Riv-Nuts with the Flat Tool Provide.

Step 7:
- Place back and Centre the Base frame in the Truck Bed.
- Place Front Base Frame touching the Front Wall of the Pick-up Bed.

Step8-9:
- Bolt securely the 6 M8 x 30 x 1.5 bolts + Washers provided with a Spanner 13mm the Base Frame on the Truck Bed.
- The Top TraySlide is now ready to install.

Step 10:

- Place the Top Deck by aligning the bearing into the base truck bearing notches.

- Turn the T - Handle, allowing the deck to fall into the Truck.

- Holding the T - Handle in the Open position, slide the Deck forward until it stops, lift stops, life the rear over the Stops
and lower the Deck into position.

J

All rights reserved to modify the text
www.avenger4x4accessories.com



AVENGE

w 4x4 ACCESSORIES M
WW-AVENGER4::4ACGESSOR|ES'CO

TRAYSLIDE DECK
FITTING INSTRUCTIONS

M8 x 1.25

M8 x 30 x 1.25

All rights reserved to modify the text
www.avenger4x4accessories.com



